Non usare
- Don'tuse

DB-Killer EVO N°5
0d.308421801

Grower @5 Co0d.202286

Allen screw M5X6 T.C.E.l. INOX
Cod. 201044

Silencer Factory S

Carbon
C0d.308437481

Alluminium spacer

Allen screw M8X45
T.C.Z.B.
Co0d.201450

Cod.205767
nox bracket silencer
™ Knurled collar Cod.206298
@\ Nnu
o Cod.206718

<nurled collar nut M6
Co0d.200333

Plain washer Jb6x24

% 0d.201146
o Alluminium spacer
Cod.205866
<D
< W
Cod.3014112201
Allen screw M6X25 S
1.C.Z.B. -
Cod.200586 . S
. o
Fracket Carbon FR2 | \/.)
Cod.308448501 .
—7

Short helical spring
tensile
Co0d.204387

Strap in stainless
Short tube in steel @51 + Bracket
silicon rubber Co0d.300051535
Cod.204412

se rubber Strap In stainless
rotection from | steel @49

Art. 141275 riginal carter Co0d.300049530

SUZUKI GSX-S 1000 i.e./ GSX-S 1000 F i.e. ('15)

Slip-on SBK "FACTORY S" - CARBONIO -
Passaggio Standard omologato "EVOLUTION [I”



